—®IxH
EHRES

(FEmm)
P
EnSES !
ARG
£ 5 % @
HREEI =
ESETEEEES RD
ﬁ TOES
BEHATRSE
- A5 |2EdG A B [ | d T
07 ;,f# ?Jgg SJM1B6RMR-RO4RMT | TS1 M16x15@) | R174 [30| 10| &6 | 3600
SJM16RMR-ROBRMT | TS2 M16x15@#) | R3/8 |35 | 10| 6 | 3.900
08 SJM16RMR-ROSRMT | TS3 M16x1.5(5) | R1/2 | 35| 10| B8 | 4500
SJM16LMR-RO4RMT | TS4 MIB6x15(%) | R174 |30 | 10| 6 | 3600
H_ SJM16LMR-ROBRMT | TS5 M16x15(%) | R3/8 [ 35| 10| & | 3900
E ; SJM16LMR-ROSRMT | TSB M16x15@) | R1/2 [35| 10| 6 | 4500
bl ; SJW22RMR-RO4RMT | TS13 wa2-14(5) | R1/4 |35 |15 6 | 4800
Z SJW22RMR-ROBRMT | TS14 we2-14() | Ra/s |40 15| 8 | 5100
m SJW22RMR-RO8RMT | TS15 we2-14(#&) | R1/2 |40 | 15| 10| 5400
ik SJW30RMR-RO8RMT | TS450 | W30-14(%) | R1/2 |50 | 17| 10| 6,000
Ed SJW30RMR-R12RMT | TS451 | w30-14(%) | R3/4 |50 | 17| 16| 6.400
SJW30RMR-R16RMT | 78452 | w30-14(#) | R1 |55 17| 16| 6900
s _&Eﬁﬁ 55_' BJM16RMR-RO4RMT | TB1 M16x15@) | R1/4 [30 | 10| & | 2800
o BJM1B6RMR-ROBRMT | TB2 M16x15@) | Ra/8 |35 | 10| 6 | 2900
m L = BJM16RMR-ROSRMT | TB3 M16x15@&) | R1/2 |35 | 10| 6 | 3.000
m BEFHF—9 BJM16LMR-RO4RMT | TB4 M16x15() | R1/4 |30 | 10| 6 | 2900
- BJM16LMR-ROBRMT | TB5 M16x15(%) | R3/8 |35 | 10| 6 | 2.900
BJM16LMR-ROBRMT | TB6 M16x15(@) | Ri/2 [35| 10| & | 3000
BJW22RMR-RO4RMT | TB13 | We214@) | R1/4 | 35| 15| 6 | 3,000
% BJW22RMR-ROGRMT | TB14 we2-14(=) | Ra/s |40 |15 8 | 3200
A E BJW22RMR-ROSRMT | TB15 wa2-14(%) | R172 |40 | 15| 10| 3.200
% BJW30RMR-ROSRMT | TB450 | W30-14(&) | R1/2 |50 | 17 | 10| 3,700
% BJW30RMR-R12RMT | TB451 | W30-14(%) | R3/4 |50 | 17| 16| 4,000
AR E BJW30RMR-R16RMT | TB452 | W30-14(#) | R1 |55 17| 16| 4300
(ST A7)
=
BEA—T [
(FARY)
M16-M12F8 A { B
BIRFT I — ~ L=
M16-M128 ) /
Fa—TTEMTE PHD o
e ST
BEVTYE
mu>o
T Hlz; |SEiae A B L | d TEfih
e J SJW22RMP-RO4RMT | TS7 w22-14(%) | R174 |35 | 15| 6 | 4.800
%@%_ SJW22RMP-ROBRMT | TS8 w22-14(#) | R3/8 |40 | 15| 8 | 5,100
HT=U—% SJW22RMP-ROSRMT | TS9 w2214 | R1/2 |40 |15 | 10| 5400
2| SJW22LMP-RO4RMT | TS10 we2-14(k) | R1/4 |35 |15 8 | 4800
% SJW22LMP-ROBRMT | TS11 w22-14(%) | R3/8 |40 | 15| 8 | 5,100
Z| sJW22LMP-ROBRMT | TS12 wa2-14(x) | R1/2 |40 |15 |10/ 5400
SJW30RMP-ROSRMT | TS453 | W30-14(8) | R1/2 |50 | 17 | 10 | 6,000
SJW30RMP-R12RMT | TS454 | W30-14(#) | R3/4 | 50|17 | 16 | £.400
SJW30RMP-R16RMT | TS455 | w30-14(%) | R1 | 55| 17| 16| 6900
BJW22RMP-RO4RMT | TB7 we2-14(3) | R1/4 |35 |15 8 | 3000
BJW22RMP-ROBRMT | TBS w22-14(%) | R3/8 |40 | 15| 8 | 3,200
BJW22RMP-ROSRMT | TB9 wa2-14(5) | R1/2 |40 |15 | 10| 3200
BJW22LMP-RO4RMT | TB10 wa22-14(%) | R1/4 |35 |15 6 | 3000
BJW22LMP-ROBRMT | TB11 w22 14k) | Ras |40 |15 8 | 3200
BJW22LMP-ROSRMT | TB12 wee-14(%) | R1/2 |40 | 15| 10| 3.200
BJW30RMP-ROSBRMT | TB453 | W30-14(%) | R1/2 50|17 | 10| 3,700
BJW30RMP-R12RMT | TB454 | W30-14(%) | R3/4 | 50|17 | 16| 4,000
BJW30ORMP-R16RMT | TB455 | W30-14() | R1 |55|17 |16 4.300
gg@%ﬁf géiﬁ%’;ﬁ%%gﬁeﬁ%MPa%ﬂi%EhU)Eﬁ(a*é#ﬁ?ﬁ'l‘zrb\ N : 1MPg Sl SMPaL! FECERT L,
(BRI EDEEHEOEON BT, © 1 30MPaEx CTERLEIEITFET .
AABRIFP388ECE TS,

357



(=FiE:mm)
QA AXF A HF
A L g
T Il
l==\_r==l
il B35 A B & d Tl
SJRO4RMT-RO4RMT | TS19 R1/4 R1/4 | 35 6 | 3.600
SJRO4RMT-ROBRMT | TS20 R1/4 R3/8 | 37 6 | 3,900
A| SURO4RMT-RO8RMT | TS21 R1/4 R1/2 | 37 6 | 5,100
% SJROBRMT-ROBRMT | TS22 R3/8 R3/8 | 40 8 | 3.900
A | SUROBRMT-ROBRMT | TS23 R3/8 R1/2 | 45 8 | 5,100
SJRO8RMT-RO8RMT | TS24 R1/2 R1/2 | 50 10| 5,400
BJRO4RMT-RO4RMT | TB19 R1/4 R1/4 | 35 6 | 2.000
BJRO4RMT-ROBRMT | TB20 R1/4 R3/8 | 37 6 | 2,100
BJRO4RMT-RO8RMT | TB21 R1/4 R1/2 | 37 6 2,200
BJROBRMT-ROBRMT | TB22 R3/8 R3/8 | 40 8 | 2100
BJROBRMT-RO8RMT | TB23 R3/8 R1/2 | 45 8 | 2,300
BJROS8RMT-ROB8RMT | TB24 R1/2 R1/2 | B0 10| 2,400

L
AL u, 28
| //_
(I
”BL bl
S
#IMPall FOEERTT.
BU5( |=ESEY A B L{h|[k]|d A
Z| SUM22RM-W22RMP | TS26 M22x1.5 |W22-14lli(F) [44|19(15(|13| 6,000
Z
=2
%
i
| BIM22RM-W22RMP | TB26 M22x 15 (W22-141L(F)|44(19|15[(13| 3,300
Eig

DFAXF ARF (F 2V 7T)

Hex30

BU5% B Lih|k|H|d TEffi
BOSW22RMP-W22.5RM | TB-0S | W22-14(f) |W22.5-14()|53|15|25(30{ 5| 1,730
BOSLW22RMP-W22.5RM | TB-OL W22-14(8) |W22.5-14()|73|15|25(30{ 5| 1.730

E T TE R~ S £ 23R

RiSEAES 20MPasit TY . 20MPaZiBX SENDBEFTHEN TEL . EIRICLOEEFOEONEDET )
1t 1MPa X3 3MPalI R TTERTEL .

L J:30MPaF CERWZEITET,

BIERIFP38BZECE T &L,

AEA-FRER
EAH#ER

HAHELZ v
& K B

HAEEL v
SoREREEE

BAEH R

B0y =)
HEH -8

INDEX(5E)
INDEX (5 &)
INRILTaA Uk
(v )
AZAXAZME

AAX AU

(SIS
AZAXDS—HF
EFubIAT)

A AXAAHFE
AAXA BT
EFub9AT)
F=

ILR

BEAV—T
BE2AU—T
(FARY)
M16-M12A
ZRT7ITI—
M16-M12H
Fa—JEHF
M16F2—T79F9—
W22Fa=—J 75T 5=
RFub

BEV v

mu>7"

o=

FrvT

NwF
TSVIUXARMF
EaE#F
HTU—X

358



—®IxH
EHRES
IEA-FEER
EAH#BER
AR =

5 K @

o

HAHEIZ b

5 wanmmems

E%@{&%E

AL H R

e oy s
RER-Z®E

HEEN SRS

=S
"

Lo
7 )

o

B

(FEmm)
L
A { B
i o
%l N
)

et # |MPaLU FOBERTY.
BT BRI A B | L |1 |d]| =fm
SJUT2RMP-RO4RMT | TS27 | 3/4-16UNF(&)| R1/4 |35 | 16 | 6 | 6,000
SJU12RMP-ROBRMT | TS28 | 3/4-16UNFG5)| R3/8 |40 | 16 | 8 | 6.300
2| SJU12RMP-ROSRMT | TS29 | 3/4-16UNF&)| R1/2 |40 | 16 | 10 | 7.000
g SJU12LMP-RO4RMT | TS30 | 3/4-16UNF(E)| R1/4 |35 | 16 | 6 | 6,000
SJUT2LMP-ROBRMT | TS31 | 3/4-16UNF(E)| R3/8 | 40 | 16 | 8 | 6,300
SJUT2LMP-ROBRMT | TS32 | 3/4-16UNF()| R1/2 | 40 | 16 | 10 | 7.000
BJU12RMP-RO4RMT | TB27 | 3/4-16UNF@)| R1/4 | 35 | 16 | 6 | 3.300
BJU12RMP-ROBRMT | TB28 | 3/4-16UNF(5)| R3/8 | 40 | 16 | 8 | 3.300
BJU12RMP-ROBRMT | TB29 | 3/4-16UNF@)| R1/2 | 40 | 16 | 10| 3.300
BJU12RMP-RO4RMT | TB30 | 3/4-16UNF(%)| R1/4 | 35 | 16 | 6 | 3.300
BJU12RMP-ROBRMT | TB31 | 3/4-16UNF(E)| R3/8 | 40 | 16 | 8 | 3.300
BJU12RMP-ROBRMT | TB32 | 3/4-16UNF(E)| R1/2 | 40 | 16 | 10 | 3.300

L
A { { A

m§%§#‘il-:‘-“—5‘ ~NT
INDEX(EH) - ) i
INDEX(52) RiD " B Rib
I EE RN
v
AZAXAZFE
HAAXARHTF Buzf, |B8= A L | d Ef
S k947
xaas #F | | SIW22RMR-W22RMR | TS18 w224 | 40 | 15 | 10 | e.800
% 7 | SJWSORMR-W30RMR | TS25 W30-14#) | 50 | 17 | 18 |10.800
FRAXARME L'| SUIMIBRMR-M16RMR | TS33 | M16x15(#/) | 30 | 10 5 4,600
(BFvr9147) A
= SJM16LMR-M16LMR | TS34 | M16x15(&) | 30 | 10 6 4,600
I)Litt
T BJW22RMR-W22RMR | TB18 wee 4w | 40 | 15 | 10 | 3200
Eﬁﬁgj H| BUW30RMR-W30RMR | TB25 W30-14(8) | 50 17 16 | 3.900
MIGIZE BJM16RMR-M1BRMR | TB33 | M16x15(8) | 30 | 10 6 1,000

? —
WEoE BJM16LMR-M1BLMR | TB34 | M16x15(&) | 30 | 10 6 1,000
F1— TTIAHE

M16Fa—T7TT9—
W22Fa-TFIF5—
Krvb

BEVIvk

mu>s

o=
o
NuEt
TSUIXARME
BREHEF
HTU—X

359

L
ey
il =
pasn P Pp
%’L .
‘:h\_)d:’

il [=EdE A L | d ZEfih
|ss| suw22RMP-w22RMP | TS16 w22-14(5) | 40 15 10 | 6,600
|es| Bow22RMP-w22RMP | TB16 w22-14(5) | 40 15 10 | 3200

L
A (. | A
T | | —
Pb P RD
"%1 _ "
I e
e BRI A L | d Efi
sUs| SUW22RMP-W22RMR | TS17 wa2-14(5) | 40 15 10 | 6600
BS| BUW22RMP-W22RMR | TB17 w22-14(8) | 40 15 10 | 3200

RN R R~ ST RN

EEERESN 20MPait TY . 20MPaZBA HENDESETHI TS,
(A EDEEHAROBONEDET )

BFERIEP388ZETE TS,

[ TMPa & SMPall FTTERTEL.
[ 1 :30MPaE CTHERWEITET .



	ヤマト産業_08_00357P1
	ヤマト産業_08_00358P1

